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double dec_length = 5.0;

double dec_width = 4.0;

double area;

double circumference;

string display = “The results are: “;

area = dec_length*dec_width;

circumference = (dec_length + dec_width)*2;

Console.WriteLine(display + “ area is: “ + area + “ circ is: “ + circumference);

'YLPN NAY Apynn NHav

dec_length | dec_width | area | circumference | display

—————— f———— -t —_——_—_— — — — ———— — — —
5.0 | 4.0 | | | |
5.0 | 4.0 | | | The results are: |
5.0 | 4.0 | 20.0 | | Theresults are: |
5.0 | 4.0 | | 18.0 |  Theresults are: |

?2y0PN MDA DA NN

The results are: areais: 20 circ is: 18



(if ) "NaNN LAYN NN TAYY NP1 TV

inta=7;
if (@ > 5)
{
a=a%4;
}
Console.WriteLine( “ a=" + a);
09T NN
;NN
a=28

DODMDNN DM INDN 1" YW NN 1291 12 XN a > 5 Manw XN 7125 Naon
yxant 2 if-n NNw

NY a>5 Niannw N21'pnn a=3 NN DAMY NN ,3 -5 7-n a NN Mv) DN
yy¥ann Nb a=a*4 nmpan 1259 onpm

n'a dan

?MIRIN MMPan VX1 INRY Dam nn
(M1Y5 N>12' 2pyn nLav 11 m)
(MY PTIX QYN LW NN DRN ONIY == 11'Dn 2 ™)
(MY XD PTIX YN LW NN DNNONY 1= 10'Dn :3 M)
int x =4;
inty =3;
intz=>5;
int sum_squares;
sum_squares = xX*X + y*y;
if (sum_squares == z*2)

{

Console.WriteLine( “Triangle x,y,z is a Right-triangle according to Pitagoras”);

}

if (sum_squares != z*2)

{
}

Console.WriteLine( “Triangle x,y,z may not be a right-triangle);



